show 'to align’ entities J r = 20,000 S| |RMS <1 =
X Y z Error
AD 409.577266  845.486399 -8.592849 1.38667 x
A1 -3.885719 169.873392 -0.634849 7.25255 x
A2 -137.238713  19.208391 0.064151 5.23576 x
A3 -193,198720  48.082392 -2.954849 4.50007 x
] show ‘reference’ entities |55
X Y z Error
RO 6078143.806.. 2262966.454.. 236.731995  1.38667 x
R1 6075349.068... 2262988.430... 230.126999 7.25255 X
R2 6074900.952... 2263120.309... 234.481003 5.23576 x
R3 6074882.446... 2263325.929.. 224.794006  4.50007 x

[ adjust scale
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Error in feet

Rotation v X¥Z| [T M1y M T2

align reset VEI

@ Align info

o Final RMS: 5.05436

Transformation matrix

1.680 2.816
-2.816  1.679
-0.053 0.076
0.000 0.000

Refer to Console (F8) for more details

-0.038
-0.084

-3025.103
-201.079
222.099
1.000







